PRACTICE FOR THE NET CHANGE THEOREM
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Problem 1: Find the exact value for / (t2 — ;) dt.
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There is no viable u-substitution for the function appearing in the definite integral. Observe
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Problem 2: Find the exact value for / ————dz.
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In this problem, let u = 22 — 2z + 1. We then have ‘é—'z‘ = 2(z — 1) which tells us that (%) 2 & =z—L
Now,
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Problem 3: Find the average value of the function f(z) = x — 3sin(x) on the interval g <z<mw

The average value of a function f on the interval a < x < b is given by the formula A = bi f b f(x)dx.
With this in mind,
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Problem 4: Find the net area of the function f(p) =p (3p2 — 4)1/3 on the interval 0 < p < 2.

The net area is given by the formula f02p (3p? — 4)1/3 dp. Let u = 3p? — 4 so that Z—Z = 6p.
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